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2 |Con5|der the sequence tin)=-4,-1,2,5,.....L

Ae Write the equation for the sequence, t(n).
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C o For the function f(x) = 3x -7, is it possible for f(x) to equal 42 ?
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5| Complete the table for the geometric sequence. Then, write
sequence formulas in both first term and zero term formats.
7 2
2 X
3
4 \f \j\ ﬂ@/ | (7>
) 2 ‘46
¢ 10867
7 |117,649
Benjamin is stuck on the problem shown below. Examine his work so far
4 and help him by showing and explaining the remaining steps.

Original problem: Simplify (3a2b)°.

He knows that (3a2b)° = (3a2b)(3a2b)(3a"2b). Now what?
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Original problem: Simplify (3a"2b)3.

He knows that (3a~2b)? = (3a~2b)(3a~2b)(3a"2b). Now what?
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After Test Assignment Name Date

this will count as the first assignment for the next Unit.

@ Find the missing terms of the sequence and write a sequence formula in both zero term and first term
format.

a) ., ,125 , - (hint: the multiplier is 1.25)

first term format: ¢, = zero term format: £, =

b) 4000, 1000, 250,___,

— 0

first term format: ¢, = zero term format: t,

After Test Assignment N_am_gl Date

this will count as the first assignment for the next Unit.

Find the missing terms of the sequence and write a sequence formula in both zero term and first term
format.

14 g N
a) w @, 125,&, 3912?) (hint: the multiplier is 1.25)
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@;tterm ormat: £, = %O(\‘l‘:}\) zero term format: &,, = (94 C\‘ Zé)

715
b) 4000, 1000, 250,682, 687
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!  \
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n-{
oe Aot (8,7%%5)
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zero term format: £, = ‘@;006 ('}-I:)
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@ Several customers at a fancy restaurant were reporting food poisening. A biologist named Tina was
recording bacteria growth on the cooking surfaces. She is trying to predict the amount of bacteria after 20
hours. Unfortunately she lost the count after the first hour and forgot to record count at six hours.

a) Determine the missing counts. hours | # bacteria
1
b) Write a sequence formula, using the 2 10
notation, "t, =" that models the growth
after n hours. 3 25
4 625
¢) Use your formula to calculate the predicted bacteria counts 5 156.25
after 20 hours.
8

Several customers at a fancy restaurant were reporting food poisening. A biologist named Tina we
recording bacteria growth on the cooking surfaces. She is trying to predict the amount of bacteria
hours. Unfortunately she lost the count after the first hour and forgot to record count at six hours.

a) Determine the missing counts. -—?%‘_\ hours | # bacteria
~ —4 A
S EE L
b) Write a sequence formula, using the - 2 10
notation, "t, =" that models the growth :
_afterghour n-\ 3 25
/ ) N\
@ = H(2.:5) 4 62.5
______,—""“"'"“""‘"ﬁ""mw \‘x‘\
¢) Use your formula to calculate the predicted bacteria counts 5  158.25
after 20 hours.. 9%~ i Q'_)) 3 (j,(,,’LS
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= 8
AR uspx@@




Notes from today September 25, 2017

3 allenge:
O g};ttlelrm!izneaformu]a for tuence: ': I
2|68
_ 3
G- 07 = 78668 2| it
R Y
2

| =
= A




Notes from today September 25, 2017

GDC 1D o

b@H&W Vo0

Four Day Unit
Transfer Skill Review from Alg/Geom

before starting Chapter 2




Notes from today

September 25, 2017
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Percent Growth
(as related to sequences and exponential functions)

requires geomeXic thinking
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Each pair should pick up
and work on one handout.

Assignment:
is in Appendix A in the back Appendix

A.....10, 23, 88, 91, 92, 116, 119, 120
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